		DATE: <u>5/4</u> /99 AGENDA ITEM # <u>11</u> () APPROVED () DENIED () CONTINUED TO						
TO:	JAM	ES L. APP, CITY MANAGER						
FROM:	јон	N R. McCARTHY, DIRECTOR OF PUBLIC WORKS						
SUBJECT:		AWARD OF BID – ANNUAL STREET STRIPING 1998-1999 FISCAL YEAR DPW PROJECT No. 99-09						
DATE:	MAY	Y 4, 1999						
Needs:	For the City Council to adopt the attached resolution awarding the low bid for Annual Street Striping, 1998-1999 Fiscal Year to Moreno Striping of Goshen, California in the amount of \$26,105.00.							
Facts:	1.	Five (5) bids were received on April 22, 1999, with the low bid submitted by Moreno Striping in the amount of \$26,105.00.						
	2.	Funding for this project was approved in the Public Works Department, Street Division budget in the amount of \$32,000.						
Analysis and								
and Conclusion:	The bids received were reviewed by staff and it is recommended that the bid for Annual Street Striping, 1998- 1999 Fiscal Year be awarded to Moreno Striping of Goshen, California.							
Policy Reference:	Currer	it Capital Improvement Program.						
Fiscal Impact:	City Council approved funding in the amount of \$32,000 for this project as part of the current Public Works Department, Street Division budget. Bid price is \$26,105.00.							
Options:	A.	That the City Council award the low bid of \$26,105.00 for Annual Street Striping, 1998-1999 Fiscal Year, DPW Project No. 99-09 to Moreno Striping of Goshen, California.						
	B.	Amend, modify or reject the above option.						

Attachments: (2) 1) Resolution 2) Bid Summary

1

C:\lb\ccagenda\05-04-99\99-09awd

RESOLUTION No. 99-____

A RESOLUTION OF THE CITY COUNCIL OF THE CITY OF PASO ROBLES AWARDING THE LOW BID FOR ANNUAL STREET STRIPING, 1998-1999 FISCAL YEAR TO MORENO STRIPING AND AUTHORIZE EXECUTION OF THE CONTRACT

WHEREAS, The bid opening for Annual Street Striping, 1998-1999 Fiscal Year, DPW Project No. 99-09 was held on April 22, 1999, with fifteen (15) bids received; and

WHEREAS, City staff reviewed all bids received and has recommended that the bid be awarded to Moreno Striping of Goshen, California in the amount of \$26,105.00; and

WHEREAS, City Council has approved funding for this project in the current Public Works Department, Street Division budget in the amount of \$32,000.

THEREFORE, BE IT RESOLVED AS FOLLOWS:

Section 1. That the City Council of the City of Paso Robles does award the bid for Annual Street Striping, 1998-1999 Fiscal Year, DPW Project No. 99-09 to Moreno Striping in the amount of \$26,105.00.

Section 2. That the City Council of the City of Paso Robles does authorize the City Manager to execute the contract with Moreno Striping for Annual Street Striping, 1998-1999 Fiscal Year, DPW Project No. 99-09.

PASSED AND ADOPTED by the City Council of the City of Paso Robles, this 20th day of April, 1999, on the following vote:

AYES: NOES: ABSENT: ABSTAIN:

Duane Picanco, Mayor

ATTEST:

Madelyn Paasch, City Clerk

ANNUAL STREET STRIPING - 98/99 FISCAL YEAR DPW Project No. 99-09

				MORENO STRIP				SAFETY STRIPING	
ITEM	DESCRIPTION	EST. QTY.	UNIT	GOSHEN, CA	EXT. PRICE	BURBANK, CA	EXT. PRICE	VISALIA, CA UNIT PRICE	EXT. PRICE
	REFLECTIVE STRIPING								
1	8" single solid line (white)	13,300	LF	0.08	1,064.00	0.08	1,064.00	0.08	1,064.00
2	8" single broken line (white)	600	LF	0.07	42.00	0.10	60.00	0.08	48.00
3	6" singe solid line (white	44,800	LF	0.06	2,688.00	0.05	2,240.00	0.07	3,136.00
4	4" single solid line (white)	33,600	LF	0.04	1,344.00	0.04	1,344.00	0.04	1,344.00
5	4" single solid line (yellow)	6,700	LF	0.04	268.00	0.04	268.00	0.04	268.00
6	4" broken line (white)	23,200	LF	0.03	696.00	0.03	696.00	0.02	464.00
7	4" double solid (yellow w/black)	106,200	LF	0.10	10,620.00	0.10	10,620.00	0.10	10,620.00
8	2-way left turn lane (yellow w/black)	36,200	LF	0.09	3,258.00	0.10	3,620.00	0.08	2,896.00
	SUBTOTAL				19,980.00		19,912.00		19,840.00
	THERMO PLASTIC STRIPING								
9	Yellow crosswalk	1,000	LF	1.75	1,750.00	2.00	2,000.00	1.90	1,900.00
10	White crosswalk	1,700	LF	1.75	2,975.00	2.00	3,400.00	1.90	3,230.00
11	STOP legend	20	EA	40.00	800.00	60.00	1,200.00	44.00	880.00
12	Stop Limit Lines	20	EA	30.00	600.00	1.25	25.00	40.00	800.00
	SUBTOTAL				6,125.00		6,625.00		6,810.00
	BID TOTALS:				26,105.00		26,537.00		26,650.00

11-3

ANNUAL STREET STRIPING - 98/99 FISCAL YEAR DPW Project No. 99-09

11-4

				SUPER SEAL &		CHRISP COMPANY		
				FILLMORE, CA		FREMONT, CA		
ITEM	DESCRIPTION	EST. QTY.	UNIT	UNIT PRICE	EXT. PRICE	UNIT PRICE	EXT. PRICE	
	REFLECTIVE STRIPING							
1	8" single solid line (white)	13,300	LF	0.115	1,529.50	0.30	3,990.00	
2	8" single broken line (white)	600	LF	0.08	48.00	0.40	240.00	
3	6" singe solid line (white	44,800	LF	0.10	4,480.00	0.10	4,480.00	
4	4" single solid line (white)	33,600	LF	0.08	2,688.00	0.07	2,352.00	
5	4" single solid line (yellow)	6,700	LF	0.08	536.00	0.07	469.00	
6	4" broken line (white)	23,200	LF	0.035	812.00	0.09	2,088.00	
7	4" double solid (yellow w/black)	106,200	LF	0.145	15,399.00	0.12	12,744.00	
8	2-way left turn lane (yellow w/black)	36,200	LF	0.115	4,163.00	0.15	5.430.00	
	SUBTOTAL				29,655.50		31,793.00	
	THERMO PLASTIC STRIPING							
9	Yellow crosswalk	1,000	LF	1.68	1,680.00	2.10	2,100.00	
10	White crosswalk	1,700	LF	1.68	2,856.00	2.10	3,570.00	
11	STOP legend	20	EA	85.00	1,700. 0 0	80.00	1,600.00	
12	Stop Limit Lines	20	EA	43.00	860.00	50.00	1,000.00	
	SUBTOTAL				7,096.00		8,270.00	
	BID TOTALS:				36,751.50		40,063.00	